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Solution: 18 letters, 4 words (By 1914, this description was no longer
appropriate only to Britain as it was in 1850!)
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Clues
B ~ 1In 1876 he transmitted the first message ever sent over wires by electricity (4)
- An English engineer, his "converter" represented a process of making
high quality steel at low cost (8)
E - Thanks to the work of Faraday and others, it emerged as an important new
source of power in this period (11
G - This nation was probably the world leader in applying the discoveries of
science to industrial purposes (7)
L - Financial capital of the world during this period (6)

M - He invented the "wireless" (or radio) in 1895 (7)
- The father of "scientific socialism," his response to the Industrial
Revolution was the "Communist Manifesto" and '"Das Kapital" %)
P - During this period it established its supremacy as the major source of
power in the field of transportation 9
- One result of the Industrial Revolution in every nation where it occurred
was a tremendous increase (10)
R - Trans-Siberian and Berlin-Baghdad, for example ... the age was noted for
their tremendous growth (8)
S - This ideology grew as a result of the Industrial Revolution ... it was a call
for government action to control and regulate the evils of industrial

society (9
~ Replaced sailing vessels as the dominant form of ocean travel (10)
- It has been described as the foundation of modern industry (5)

- Opened in 1869, it shortened the distance between Europe and India by
some 4000 miles (4,5)
T - 1Its first transatlantic cable was laid in 1866 )
- Formed by workers of all countries to secure better wages and working
conditions (5,6)
U - By 1914 it was the world's leading manufacturing nation (6,6)
- This term is used to describe a process that occurred in all countries as
industries expanded and population densities shifted (12)
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